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01) 280w DG cg yedmao e 08 Qen DedHo WOBIB.
1. y=f(x)=2x?>—-3x—7 2.y=f(x)=—x%24+2x—6
02). o5 gedds Om® G wovwm® g&s5Im.
1. y=x2—-2x+4,y=—x*+2x+6

2. y=x2—4x+11, y =5+ 4x—x?

03).8wE »8m X ©ewo 8D BCHsT §nw XD OB OBIBN DD EBBIOBIB).

flx) =x?>—-2x+10
04). BwE mF0m X 836w 59D HCHsT D6 Badh EOGE 0NOBIBN DO EBBIOBIB).

f(x)=x*—6x+9
05).3 + 4y — 2y? e 080 gmamed
l.y 0 018m® avw 2. 0@»® D350m® @6 sID.
06). @55w 0 ¢ Qe n oGt E8w ¥R O 888 A 8 gvw ewwsim.
f(x,y) =2x*+Axy + 3y* — 5y — 2

07).055w 002 0¢m2 Qunun @S G DOBIBD.
f(x,y) = 2x? —7xy + 3y? — 5y — 2



